.5

q.%2.

T.3.

‘g.(“

q.5.

‘".e.

u.8.

‘Brsﬂﬁmrﬂmmmrﬁrﬂ
daordl ardt Sl uflenm-204as

‘gﬁaﬁﬁaﬁmﬁmmﬁm? :

(3) s S C(R) O @ et

(3) Iem=T HER : (¥) st fooeh @t

(2) fag () Si® (3) oA FOSE (¥) SUE
(2) TeIes - e (R)ea -

(3) Tt - WS (¥) ¥R - IR

(1) Tom () M - (3) Hem (¥) W
- (3) i e SeEE? (R) Ht S ST IR ?
(3) Ht FAH TEES B ? (%) = wue NSES IFAS ?
b 43wl a1 2= e dFa gt e, ,

() g (R) qEEQ (3) < () feard
Joihl HIvM FHYRT WHTETS IGTEI0T ATE ?

(3) o () geurem (3) THOERY (¥) o,
STafET T worar Ave= rRa ? e araret Prer Sl
- (3) Tgeff 3 e U R) g E

3) et & =gl (¥) wst 9 gudl

(2) TR a5t 3= s sl _

(3) TR B NoSS TaSq AE.

(3) g frcds feam wreme afme .

(¥) T9aEHT et fegvarasd faeg .
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W28,
n.%3.

u.%3.

%.2%.
.84,
.88,
T.%6.
w.2¢.
T.%2%.
%.20.
w.3%.

T.R%.

(2) THTSIA SEH GUREET IoaTd TiEe.

() o B powlor WO AR,
(3) BT SERAT Tshgd 919 e,
(¥) Tait STeRaTS WIS
(2) s () &= (3) aE= (¥) &
‘ggu’ = vegren wuTETell ey fiwEn. :
(%) fag R (2) & (¥) W -
(2) gFd X 9§ - : () W X W
(3) fomm x wwm (%) TR X I
) w (R) = O ()=
“aft’ g1 Iuwt gt Wi e |ee ? |
(2) oA () T . (3) v (%)
(2) = (R) R (3) @y, (¥) &
(2)- T () Fador - (3) e (¥) T
(2) & (R) FRAR (3) T (¥) +rs
(2) s&=g (R) =& (3) sEaH (¥) =&
Ch_oose the Feminine Gender of : Fox e
(2) Vixen - (R) Mare (3) Czarina (¥) Heifer

Choose the word Opposite in meaning to the given word : Robust
(%) Thick (?) Emancipated ~ (3) Light - (¥) Strong
Choose the most suitable one-word for the given expression.

One who deserts ones religion _ :
(2) Deserter () Turn-coal (3) Fanatic - .~ (¥) Apostate



gc?a-

T.%%.

go?k;

.38,
T.%6.

T.RC¢.

IR

T.30.

.39.

T.3%.

q.33.

~ Identify the figure of speech in the following line: Peace is a mother.

(2) Personification () Metaphor
(3) Simile (¥) Transferred epithet
Choose the correct Question Tag for the following sentence.

We did not have much money. .

() did we? () did us? " (3) did they? (¥) didn'tus?

Name the underlined clause in the following sentence.

Although the children were sleepy, they listened to the story.
(2) Adverb clause of condition. - (R) Adverb clause of reason.

(3) Adverb clause of purpose. (¥) Adverb clause of concession.

Name the part of speech of the underlined word. Still waters run deep.

oooooo

.

(%) Adjective () Adverb (3) Preposition _  (¥) Conjunction
Choose the plural form of the given word: Half '

(2) Halfs (?) Halfes (3) Halves (¥) Halvs
Choose the correct alternative to fill in the blank.

I'don't think I ...... be able to go.

(%) Shall (%) Should (3) Could (¥) Would
Choose the appropriate conjunction to fill in the blank_.

He lost his balance ...... fell off the bike. .
(2) yet (2) eventhough (3) and (¥) but
The cry of a dog is bark. The cry of a deeris...... ‘

(2) pop (%) bell - (3) clatter (%) drone
The diminutive of the book is a booklet. The diminutive of the part is
(%) parasol ~ (R) pocket (3) particle - (¥) party
The phobia about air is aerophobia. The phobia about darknessis ...
(2) ochlophobia (?) thanatophobia

(3) bathophobia (¥) nyctophobia

Choose the word opposite in meaning to the giveh word: Chide

(2) Praise (?) Fear (%) Criticise - - (¥) Flatter
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e,

T.%R,

Find out which part of the sentence has an error.

It is unfortunate that / many youngsters get addicted / to gamble / No error.

A : B o D
(& ake Q) (¥) D
Choose the appropriate preposition to fill in the blank.
He is still smarting ...... rebuke. _ :
(2) of (R) off (3) on ~ (¥) over _
Choose the one which best expresses the meaning of the given word : Whimper
(%) Prevent (?) Cry (3) Instigate (¥) Pacify
T s,
(2) # () wed (3) 9@ (¥) e
(2) <t =t Eg® qu1, d fo It SfETe QU STERed IR,
() f= ai‘ BV ITTRISR ATHT TR,
(3) & 9 ITEN U¥@ TE 0 .

(¥) dt Segr U= Wi A5, deare S AW
TEhAT TR AT AT T T4,
Tit® arR A FEaiTaR ara uarsiEar ST 99 wEarE gan?

(1) TR Taht STl (R) TR Yash TrgE

(3) TreRdt Ueht g (¥) g Ul Yo
‘AysT AU AT AATAT THOST ATHTAR ABET.

(2) =il peu ' () T% @

(3) it gt (¥) SIS W

‘rgaTaTe U AW gord qor mawrd’trgmaﬁw

() @ asft At (3) @1 T T

(3) Sica FrHSA TS . (x)amtrﬂﬁnﬁalatamsﬁm

Wﬁﬁwammmﬁmﬁwaﬁ%m
(T HUTH %3 T ¥3)

- ATMN LATMLANMAMTLAT

TG AT A 7R oTa T 2 st Foredt a1 o g ?
(2) 4 (R) ¥ () 3 (¥) 3
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e 7 SEUR ug fRaEr. (U swEie vy 9 wy) -
() Ru§ (R) 234 (3) u2? (%) v}
(2) C SR (3) M MV
3 3 ? -
. e e
R ¥y %% _
(2) ¥ (?) 33 (3) 22 (¥) 2%

e T gEe T W T oy, A e e e vl ok,
a ltega vAfurgrea sl Jum vaig fraer. (TeR wHiw e A ¥R)

&= : gEet ;1 ? : TrE -

(1) wme () @ 5 (3) W X (¥) e
€0 : 39 11 ¢R 17 _

(2) 3% (R) 328 {8) 8% 2. (¥) 63
BX:VD:: GS:? ' :

(1) 1Q (2)JP . (3) QI (4RI

YT YHhe W HeA ¥0 W, TOST, Y IASAT AT THT HIhAT TG
U Wt TTEET, T 39S FI9ET S HIChET Fo U9 SIS, a8 AT
e T St favm wiord ? _

(2) wfT=m () (3) 3w (¥) S

gfgTe ARl A AUTR ug e (9 AT 48 T 4R)
AB, BD, DG, GK,?

(2) KO () KP (2) KQ (¥) PU
2%, 92, 9%, %<, 3%, 3¢, 7 i g _
(?) &0 (R) &% = (3) W? (¥) &

TenT GeATEaT TG TG §% ST HHThTER STHUTTT WTHTSAT AT { S41 A TR
It st feen Wia weaunh sraeaT™, W W gt TRt omed ?

(2) ¥& (R) ¥ (3) ¥4 (¥) ¥3

Jde SEamIiGedi® gerdl Sea otewr. $%, %%, R0, 33, 3%, 3%, 3¢
(%) R0 R 9 - (3) %% (¥) 3%
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% VR AY &R e R 9

ﬁFSO.X+=:k

0 orfires « WIS X wHE?

®) RIT ea T

- wrde Th woen gt EuEEEaR @ e ittt ? |
() %0+= (R) #X0X (3) OXdek (¥) =+x#
e Tftaren g W S e weTde o S ?

) =7 () TR (3) oR (¥) Sreriarg
TGS HISTT HIVA Faut A70r g ? o
(2) z@ - (R) Fae (3) & (%) vk
wrae st deorTaw /3 Aiea s ST wata s,

(%) 3T A - WS FHaarS () vmee Yead - fags sl

(3) M T - HIRE T TS (¥) OIS ¥ - @ @
‘wm’mmﬁ'mwmmq@? _
() Fnfem ) wRaEn Wy (3) W AW (¥) TA REwed
AT WETET FEOD HIR RIeR $2¥e W T WATd WHIE S Towa 7
() womft () AiRE (@) He |

(3) Wt a1 7T 9 = () w7 ¥ o &
(3) waa & AT & (¥) fodt =1, & anfor &
230 W Taw gitew tgren fa=m woft digen?

(%) i, gewig g () el wwa S
(3) Sfee wewg areht S (¥) forrera o1 @

ARAT 2340 gt ‘36 WA 71 fmm Wt i rRum | e W e 7
(2) v eft o (3) Wfewm A (3) mwsw RR (¥) T T
afre= =3 3¢ =¥ o, mﬁmmmmmm '

| wEEeETEEE AT wey Al ?
(2) o =¥ () ¥ =8 (a)w& (¥) 2 =
faftrieeTdie wdw fada® de wvarn siftm sfier Home s ?
(2) foumaun sreusr () TSI

(3) faumafeg (¥) fumma
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T.90.
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T.03.

Ww/mmﬁﬁmﬁwmmmm
e gy guta srorar ?

(%) werTy faam@EwT-36e () wewry fagrmfog - ¢¢

(3) BHEM - 443 (¥) TSEE - R3¢ :

R0%% =T AR {37 Tl Fen srmeard, 2083 A1 ANt HARY Bt avh fde ?
() goam () wmsam (3) TEam (¥) Team

s weare 1 fRmaet 20 R wm uEh, g veme 9 @ qreEd. 9l
USATS T AT ¢ TTaT A0 A8 qrEdd Audie, ot mure fedt feaar
el USaTe THY 99 SEadie

(2) W Raw  (2) syx fEw (3) 38 femm (¥) R¥ feawm

wrete v e w0, (u9a e &% F 00)

A
B C
D E F
G H I J -
K I M N 0]
P O R S T U
KQC:bTB::GRF:?
(?) JSA () JSD (3)JSH (¥) DSJ
RDQ:I::SFT:? :
(2) M R E {D O . (¥) N

INTRODUCTION 31 WsaTdies 18R 93 snfaoo seiqul yse wre foe amga.
TTUhT HIVTeAT ISaTd® Uah Tohar aiferes aren = fadean yeedie Ada ?
(2) IRON (R) UNION * . (3) INTENT (¥) TINT -

‘a'ﬁmwmﬁﬁ'mmgﬁﬁaﬂsﬁaﬂﬁ,m‘a{’maﬂm?

() s (R) gem (3) W= () e aTe I,

Tree geAaed Toam g e e omga. @ faamtass g@ e vt
FgATIET ATt i agEe free. (W9 i o 7 0y), ;

T W TR o, wd weeh T amE.

(2) =& IR TEHS ARA. () =& T FEFA R

(3) T TEES T R (¥) 7 o = am.



H.9%.

.04,

T.\0%.

H.\9le,
T.\9¢.
T.68.
T.£0.

s .2 o

T.4%.

.3,

. T.L%.

b A

e FETE HIq HTEA. Yt Hiql T ATE.

(R) Tt erer oo . () Tl i werer .

(3) #rt wgU weR AT (¥) &l T SO ITTRA.

HTE WIS U e TH w1 20 fGawia yot wat, wg o werwdte ¢ W e
AS 7 VeHed WHedT HTAT T W Ui Foars Ry faw ove, @ o werde
e g wean fed @t ?

(2) ¥& . (R) 4o C(3) W (¥) ¥¢

In the following passage there are blanks each of which has been numbered. |
The suitable word for the blank has been mentioned against the number. Choose
the appropriate word in the context of the passage to fill in the blanks. (Q. No.
.76 to 80)

One of the major causes of the failure of — 76— countries on economic front is
their —77 — to evolve a judicious mixture of —78 — substitution and export
promotion. Zambia which — 79 — on imports after its independence twenty
years— 80 — has depleted 50% of its national capital.

(2) developed (R) developing (3) advanced (%) advancing
(%) inability (R) disadvantage  (3) incapacity (¥) handicap
(%) scientific (?) invention (3) export ~ (¥) import
(2) expected - (R) traded - (3) banked (¥) carried
(%) later () ago ; (2) earlier (¥) since
Choose the appropriate preposition to fill in the blank.

I asserted ......her proposal.

(%) for ' () on - (3) upon (¥) to

Choose the one which best express the following sentence in passive voice.

Do not insult the weak.

(2) The weak is not insulted. : (?) Let the weak be not insult.

(3) Let the weak be insulted. (¥) Let not the weak be insulted.

Choose the one which best expresses the meaning of the given word : Forlorn
(2) Uncared () Funny (3) Fearful  (¥) Fortunate
e st T ITRfteRtuTe @Rl At s e srorean sfgar T ?
(3) 9K (R)ogA e (3) WS AW (¥) I

AT BT G WETSAT FUATT FYIEET U 3R ?
() WAy () ¥ A& (3) oft & 7% (¥) W6 a9
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(2) =T Fofim | ():c'.T Hrow e & -
 (3) Pw@ ¥) 3R, FeHTH
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(%) Tromar s ST (3) sTfeeamaTs greseht A '
(3) g1 A . (¥) wfesfiarg $& s

WAt ‘e g fovwe’ <t Wl wesom @t w7
(2) smuft T () vom T (3) SRIYHTS FREV (¥) UH. T, S
AHAT e iRt WHE AET RO IR G ST ST ?

@)@ = R)EE (3) o (¥) ==
TS YEATEd HiS ATE ? .

(3) fegt - () g (3) =fems (¥) ==
‘T AV WIS qATATaRT RO HEOT AT ? |

(%) YR gEATHHYTE T () UFR SIS e

(3) Fd= wra G g (%) AR gaEygT T
Qe AEmEgA T TASGhi a1 Hiddear s e siear.

(%) wir wreriEeR () fo@ wdw (3) FHgETS (¥) qwd W9e
‘YT’ AT I WHATATS HIUTeT TSAT ST T AT ?

(2) SrEE R) e ww () fEm (x) T AT
Qe gataideht ‘qEme fagr wiom ? o

(2) wfesm () UrETTS : (3)’4655‘f a (¥) s
mmﬁﬁmmmmm?

(2) 3w () s (3) o (¥) SRR
HERIPTEAT SwRrEHt At wenwehra fawma wHEw Tweer fregr st
(%) g () ==l | (3) T (¥) I

| WaTd® wata WeT usht Wiehe uaiaiieht orn ?

(}) M@ . (R) "R (3) v (X)wfr
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